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CLASS -6 SCIENCE WORKSHEET
CHAPTER-1

Why do boiled seeds fail to sprout?
Name two ingredients in our food that are not obtained from plants or animals. Mention the source for each
ingredient.
Why do organism need food? Give two reasons.
Why do animals with different food habits have different teeth?
Read the given clue and fill up the blanks given below each of them:
a) Honeybees suck from flower
N__T_R
b) Animals which eat other animals
_A_N_V_R_S
c) Animals which eat only plants and plant products
HE B __ __ES
d) Animals which eat both plants and animals
__MN_V_R
Name any two edible parts of:

a) Banana tree
b) Mustard plant
Solve the given crossword puzzle: I H
ACROSS: o L[]
1. Animals that can eat both plants and

flesh of other animals.(9 LETTERS)
2. Rearing of honeybees in large scale is called(10 LETTERS)

DOWN: A | | [ | | |E

3. The materials needed to prepare food items.(11 LETTERS)
4. A tasty and nutritious food item we get from
honeybees.( 5 LETTERS)
5. The parts of Plant that can be eaten are called
parts.(6 LETTERS).

Identify the animals in the grid below and categorise them into herbivores, carnivores and omnivores.
T A C 0] W (0] L F
T A R W X G ) R
N N 0] L I (0] N 0]
E T W Q L A N G
H U M A N T W 0]




